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1 2 3 4 5 6
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1 491199.55 2198722.46
�=4?<F<G5E><=

<5F>4
0.10 3

2 491201.53 2198722.18
�=4?<F<G5E><=

<5F>4
0.10 3

3 491209.09 2198755.79
�=4?<F<G5E><=

<5F>4
0.10 3

4 491241.52 2198982.34
�=4?<F<G5E><=

<5F>4
0.10 3

5 491267.74 2199165.45
�=4?<F<G5E><=

<5F>4
0.10 3

6 491275.39 2199205.55
�=4?<F<G5E><=

<5F>4
0.10 3

7 491273.43 2199205.93
�=4?<F<G5E><=

<5F>4
0.10 3

8 491265.77 2199165.78
�=4?<F<G5E><=

<5F>4
0.10 3

9 491239.68 2198983.61
�=4?<F<G5E><=

<5F>4
0.10 3

10 491170.84 2198993.53
�=4?<F<G5E><=

<5F>4
0.10 3

11 491193.99 2199163.17
�=4?<F<G5E><=

<5F>4
0.10 3

12 491206.19 2199239.69
�=4?<F<G5E><=

<5F>4
0.10 3

13 491153.86 2199288.97
�=4?<F<G5E><=

<5F>4
0.10 3

14 491133.28 2199284.76
�=4?<F<G5E><=

<5F>4
0.10 3

15 491130.40 2199273.79
�=4?<F<G5E><=

<5F>4
0.10 3

16 491090.53 2199005.09
�=4?<F<G5E><=

<5F>4
0.10 3

17 491018.91 2199015.40
�=4?<F<G5E><=

<5F>4
0.10 3



18 491041.74 2199170.46
�=4?<F<G5E><=

<5F>4
0.10 3

19 491044.54 2199190.31
�=4?<F<G5E><=

<5F>4
0.10 3

20 491045.88 2199199.86
�=4?<F<G5E><=

<5F>4
0.10 3

21 491044.09 2199200.13
�=4?<F<G5E><=

<5F>4
0.10 3

22 491016.93 2199015.69
�=4?<F<G5E><=

<5F>4
0.10 3

23 491010.19 2199016.66
�=4?<F<G5E><=

<5F>4
0.10 3

24 490929.46 2199028.29
�=4?<F<G5E><=

<5F>4
0.10 3

25 490922.48 2199025.64
�=4?<F<G5E><=

<5F>4
0.10 3

26 490846.28 2198996.79
�=4?<F<G5E><=

<5F>4
0.10 3

27 490840.01 2198994.68
�=4?<F<G5E><=

<5F>4
0.10 3

28 490766.23 2198969.86
�=4?<F<G5E><=

<5F>4
0.10 3

29 490764.95 2198969.39
�=4?<F<G5E><=

<5F>4
0.10 3

30 490764.96 2198969.44
�=4?<F<G5E><=

<5F>4
0.10 3

31 490764.69 2198969.35
�=4?<F<G5E><=

<5F>4
0.10 3

32 490760.02 2198968.96
�=4?<F<G5E><=

<5F>4
0.10 3

33 490777.53 2199088.18
�=4?<F<G5E><=

<5F>4
0.10 3

34 490701.37 2199083.09
�=4?<F<G5E><=

<5F>4
0.10 3

35 490684.14 2198962.24
�=4?<F<G5E><=

<5F>4
0.10 3

36 490675.43 2198961.60
�=4?<F<G5E><=

<5F>4
0.10 3

37 490674.61 2198966.35
�=4?<F<G5E><=

<5F>4
0.10 3

38 490650.08 2199036.55
�=4?<F<G5E><=

<5F>4
0.10 3

39 490650.08 2199037.33
�=4?<F<G5E><=

<5F>4
0.10 3



40 490645.31 2199048.88
�=4?<F<G5E><=

<5F>4
0.10 3

41 490643.80 2199054.65
�=4?<F<G5E><=

<5F>4
0.10 3

42 490635.71 2199079.50
�=4?<F<G5E><=

<5F>4
0.10 3

43 490635.71 2199079.81
�=4?<F<G5E><=

<5F>4
0.10 3

44 490636.07 2199079.74
�=4?<F<G5E><=

<5F>4
0.10 3

45 490604.20 2199181.35
�=4?<F<G5E><=

<5F>4
0.10 3

46 490514.54 2199514.00
�=4?<F<G5E><=

<5F>4
0.10 3

47 490507.26 2199536.34
�=4?<F<G5E><=

<5F>4
0.10 3

48 489972.73 2199523.38
�=4?<F<G5E><=

<5F>4
0.10 3

49 489967.14 2199523.29
�=4?<F<G5E><=

<5F>4
0.10 3

50 489967.18 2199521.29
�=4?<F<G5E><=

<5F>4
0.10 3

51 489972.77 2199521.38
�=4?<F<G5E><=

<5F>4
0.10 3

52 490505.82 2199534.31
�=4?<F<G5E><=

<5F>4
0.10 3

53 490512.62 2199513.43
�=4?<F<G5E><=

<5F>4
0.10 3

54 490602.28 2199180.79
�=4?<F<G5E><=

<5F>4
0.10 3

55 490643.73 2199048.65
�=4?<F<G5E><=

<5F>4
0.10 3

56 490672.66 2198965.85
�=4?<F<G5E><=

<5F>4
0.10 3

57 490673.76 2198959.48
�=4?<F<G5E><=

<5F>4
0.10 3

58 490683.85 2198960.22
�=4?<F<G5E><=

<5F>4
0.10 3

59 490669.37 2198858.65
�=4?<F<G5E><=

<5F>4
0.10 3

60 490745.33 2198844.55
�=4?<F<G5E><=

<5F>4
0.10 3

61 490818.16 2198831.04
�=4?<F<G5E><=

<5F>4
0.10 3



62 490841.23 2198992.98
�=4?<F<G5E><=

<5F>4
0.10 3

63 490846.95 2198994.91
�=4?<F<G5E><=

<5F>4
0.10 3

64 490921.61 2199023.18
�=4?<F<G5E><=

<5F>4
0.10 3

65 490892.86 2198818.45
�=4?<F<G5E><=

<5F>4
0.10 3

66 490977.62 2198802.40
�=4?<F<G5E><=

<5F>4
0.10 3

67 490985.78 2198799.73
�=4?<F<G5E><=

<5F>4
0.10 3

68 490973.88 2198742.94
�=4?<F<G5E><=

<5F>4
0.10 3

69 490975.84 2198742.53
�=4?<F<G5E><=

<5F>4
0.10 3

70 490987.93 2198800.27
�=4?<F<G5E><=

<5F>4
0.10 3

71 491014.15 2198997.07
�=4?<F<G5E><=

<5F>4
0.10 3

72 491009.48 2198998.22
�=4?<F<G5E><=

<5F>4
0.10 3

73 491009.21 2198996.22
�=4?<F<G5E><=

<5F>4
0.10 3

74 491011.93 2198995.55
�=4?<F<G5E><=

<5F>4
0.10 3

75 490986.11 2198801.73
�=4?<F<G5E><=

<5F>4
0.10 3

76 490978.12 2198804.34
�=4?<F<G5E><=

<5F>4
0.10 3

77 490895.11 2198820.06
�=4?<F<G5E><=

<5F>4
0.10 3

78 490923.74 2199023.98
�=4?<F<G5E><=

<5F>4
0.10 3

79 490929.68 2199026.23
�=4?<F<G5E><=

<5F>4
0.10 3

80 491008.91 2199014.82
�=4?<F<G5E><=

<5F>4
0.10 3

81 491008.11 2199009.54
�=4?<F<G5E><=

<5F>4
0.10 3

82 491010.09 2199009.26
�=4?<F<G5E><=

<5F>4
0.10 3

83 491010.89 2199014.54
�=4?<F<G5E><=

<5F>4
0.10 3



84 491017.64 2199013.57
�=4?<F<G5E><=

<5F>4
0.10 3

85 491090.24 2199003.11
�=4?<F<G5E><=

<5F>4
0.10 3

86 491059.56 2198784.93
�=4?<F<G5E><=

<5F>4
0.10 3

87 491051.25 2198737.35
�=4?<F<G5E><=

<5F>4
0.10 3

88 491053.22 2198737.01
�=4?<F<G5E><=

<5F>4
0.10 3

89 491061.53 2198784.62
�=4?<F<G5E><=

<5F>4
0.10 3

90 491092.22 2199002.83
�=4?<F<G5E><=

<5F>4
0.10 3

91 491168.59 2198991.83
�=4?<F<G5E><=

<5F>4
0.10 3

92 491138.30 2198769.81
�=4?<F<G5E><=

<5F>4
0.10 3

93 491122.78 2198675.97
�=4?<F<G5E><=

<5F>4
0.10 3

94 491124.41 2198663.51
�=4?<F<G5E><=

<5F>4
0.10 3

95 491128.44 2198662.95
�=4?<F<G5E><=

<5F>4
0.10 3

96 491128.79 2198664.92
�=4?<F<G5E><=

<5F>4
0.10 3

97 491126.19 2198665.28
�=4?<F<G5E><=

<5F>4
0.10 3

98 491124.80 2198675.93
�=4?<F<G5E><=

<5F>4
0.10 3

99 491140.28 2198769.51
�=4?<F<G5E><=

<5F>4
0.10 3

100 491170.57 2198991.54
�=4?<F<G5E><=

<5F>4
0.10 3

101 491239.40 2198981.63
�=4?<F<G5E><=

<5F>4
0.10 3

102 491207.12 2198756.15
�=4?<F<G5E><=

<5F>4
0.10 3

1 491199.55 2198722.46
�=4?<F<G5E><=

<5F>4
0.10 3

�>=FGD 2 3 3 3 3 3

103 491168.86 2198993.81
�=4?<F<G5E><=

<5F>4
0.10 3

104 491190.16 2199149.87 �=4?<F<G5E><= 0.10 3



<5F>4

105 491192.88 2199164.88
�=4?<F<G5E><=

<5F>4
0.10 3

106 491192.24 2199164.88
�=4?<F<G5E><=

<5F>4
0.10 3

107 491204.05 2199238.95
�=4?<F<G5E><=

<5F>4
0.10 3

108 491153.24 2199286.80
�=4?<F<G5E><=

<5F>4
0.10 3

109 491134.90 2199283.05
�=4?<F<G5E><=

<5F>4
0.10 3

110 491132.36 2199273.39
�=4?<F<G5E><=

<5F>4
0.10 3

111 491092.51 2199004.81
�=4?<F<G5E><=

<5F>4
0.10 3

103 491168.86 2198993.81
�=4?<F<G5E><=

<5F>4
0.10 3

�>=FGD 3 3 3 3 3 3

112 490839.11 2198992.27
�=4?<F<G5E><=

<5F>4
0.10 3

113 490765.09 2198967.37
�=4?<F<G5E><=

<5F>4
0.10 3

114 490760.76 2198967.02
�=4?<F<G5E><=

<5F>4
0.10 3

115 490763.61 2198963.31
�=4?<F<G5E><=

<5F>4
0.10 3

116 490746.64 2198846.34
�=4?<F<G5E><=

<5F>4
0.10 3

117 490816.47 2198833.38
�=4?<F<G5E><=

<5F>4
0.10 3

112 490839.11 2198992.27
�=4?<F<G5E><=

<5F>4
0.10 3

�>=FGD 4 3 3 3 3 3

118 490761.51 2198962.76
�=4?<F<G5E><=

<5F>4
0.10 3

119 490758.39 2198966.82
�=4?<F<G5E><=

<5F>4
0.10 3

120 490699.72 2198962.00
�=4?<F<G5E><=

<5F>4
0.10 3

121 490699.73 2198969.01
�=4?<F<G5E><=

<5F>4
0.10 3

122 490697.73 2198969.15
�=4?<F<G5E><=

<5F>4
0.10 3

123 490697.38 2198961.21 �=4?<F<G5E><= 0.10 3



<5F>4

124 490685.90 2198960.37
�=4?<F<G5E><=

<5F>4
0.10 3

125 490685.26 2198955.90
�=4?<F<G5E><=

<5F>4
0.10 3

126 490685.25 2198955.90
�=4?<F<G5E><=

<5F>4
0.10 3

127 490681.24 2198928.19
�=4?<F<G5E><=

<5F>4
0.10 3

128 490678.78 2198911.22
�=4?<F<G5E><=

<5F>4
0.10 3

129 490676.65 2198896.52
�=4?<F<G5E><=

<5F>4
0.10 3

130 490672.06 2198864.85
�=4?<F<G5E><=

<5F>4
0.10 3

131 490672.27 2198864.81
�=4?<F<G5E><=

<5F>4
0.10 3

132 490671.62 2198860.26
�=4?<F<G5E><=

<5F>4
0.10 3

133 490744.67 2198846.71
�=4?<F<G5E><=

<5F>4
0.10 3

118 490761.51 2198962.76
�=4?<F<G5E><=

<5F>4
0.10 3

�>=FGD 5 3 3 3 3 3

134 490757.98 2198968.79
�=4?<F<G5E><=

<5F>4
0.10 3

135 490775.19 2199086.02
�=4?<F<G5E><=

<5F>4
0.10 3

136 490703.13 2199081.20
�=4?<F<G5E><=

<5F>4
0.10 3

137 490686.18 2198962.39
�=4?<F<G5E><=

<5F>4
0.10 3

138 490695.46 2198963.07
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